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Check each answer. Determineif the answer is'correct' or 'not'.

/ Division problems can be
checked by multiplying the
quotient by the divisor and then
adding the remainder.

If the answer isthe same as the
& dividend, it is correct.

1) 275:4=4515

3 936+9=187rl

5 903+9=100r3

7) 502+8=62r6

9 326+7=46r4

8) 707+9=78715

10) 833+2=416

Checking Division Answers Name:
Answers
263+ 8=32r7 182+6=29r5
32 29 1
x 8 x 6
256 174 2
+ 7 + ©
263 179 2@ WA E
2) 214+7=30r4 4
5.
6.
4) 851+6 =141 !
8.
9.
10.
6) 430+7=61r4

[ M ath ] www.CommonCoreSheets.com

1-10 90|80 70|60 |50]40]30]20[10] O |




=

Checking Division Answers Name: Answer Key
Check each answer. Determineif the answer is'correct' or 'not'. Answers
/ Division problems can be 263+ 8=32r7 182 +6=29r5 \
checked by multiplying the - 29 1 not
quotient by the divisor and then 6
adding the remainder. x 8 X
256 174 2. correct
If the answer is the same as the + 7 + 5
\_dividend, it is correct. 263 1792@ |3 not
1) 275:4=4515 45 2) 214:7=3014 30 4 ___ hot
x 4 x 7 5. correct
180 210
+ 5 + 4 6 not
185 214
7. correct
3) 936+9=187r1 187 4) 851+6=141 141
x 9 x 6 g,  correct
1683 846
1684 846 o not
5 903+9=100r3 100 6) 430:7=61r4 61
x 9 x 7
900 427
+ 3 + 4
903 431
7) 502+8=6216 62 8 707+9=78r5 78
x 8 x 9
496 702
+ 6 + 5
502 707
9 326:7=4614 46 10) 833+2=416 416
x 7 x 2
322 832
+ 4 + 0
326 832
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